TABLE 8

APPLIED, COMPLETE, ACCEPTED, AND ENROLLED
MASTERS-SEEKING GRADUATE STUDENTS FOR FALL 2004

#### COLLEGE OF EDUCATION AND HUMAN SERVICES

	APPLIED	COMPLETE	ACCEPTED	% ACCEPTS	ENROLLED	% ENROLLED
ADMINISTRATION AND SUPERVISION (MA *No Concentration* EducTrainer	159 18	102	92	90.20		75.00 90.00
TOTAL ADMINISTRATION AND SUPERVISI	ON (MA) 177	112	102	91.07	78	76.47
COUNSELING, HUMAN SERV & GUIDANCE ( *No Concentration* HumanServ			59 19	60.82 52.78	45 15	76.27 78.95
TOTAL COUNSELING, HUMAN SERV & GUID	ANCE (MA) 198		78	58.65	60	76.92
EARLY CHILDHOOD SPECIAL EDUCATION *No Concentration*			2	50.00	2	
EDUCATION (MED)  *No Concentration*  CriticalThinking  PhilosophyForChildren	54 10 9			82.14 125.00 100.00	17 4	73.91 80.00 66.67
TOTAL EDUCATION (MED)	73	35	31	88.57	23	74.19
HEALTH EDUCATION (MA) *No Concentration*	18	11	7	63.64		85.71

TABLE 8

APPLIED, COMPLETE, ACCEPTED, AND ENROLLED
MASTERS-SEEKING GRADUATE STUDENTS FOR FALL 2004

### COLLEGE OF EDUCATION AND HUMAN SERVICES

HUMN ECOL (MA)  ConsumerAffairs 1 1 1 1 100.00 1 25.00 FamilyRelations/ChildDevelopmn 6 4 4 100.00 1 25.00 HomeEconomicsEducation 3 1 0 .00 0 .00 Nutrition&FoodScience 9 1 1 100.00 1 100.00  TOTAL HUMN ECOL (MA)  19 7 6 85.71 3 50.00  LEARNING DISABILITIES (MED) *No Concentration* 30 18 15 83.33 11 73.33  NUTRITION AND FOOD SCIENCE (MS) *No Concentration* 10 2 2 100.00 2 100.00  PHYSICAL EDUCATION (MA)  Coach&SportsAdmin 18 10 8 80.00 6 75.00 ExerciseSciences 5 2 2 100.00 2 100.00  TOTAL PHYSICAL EDUCATION (MA)  TOTAL PHYSICAL EDUCATION (MA)  40 22 16 72.73 13 81.25  READING (MA) *No Concentration* 36 30 26 86.67 20 76.92		APPLIED	COMPLETE	ACCEPTED	% ACCEPTS	ENROLLED	% ENROLLED
ConsumerAffairs 1 1 1 100.00 1 100.00 FamilyRelations/ChildDevelopmn 6 4 4 100.00 1 25.00 10 0.00 0 0.00 Nutrition&FoodScience 9 1 1 1 100.00 1 100.00 TOTAL HUMN ECOL (MA)  TOTAL HUMN ECOL (MA)  19 7 6 85.71 3 50.00  LEARNING DISABILITIES (MED) *No Concentration* 30 18 15 83.33 11 73.33  NUTRITION AND FOOD SCIENCE (MS) *No Concentration* 10 2 2 100.00 2 100.00  PHYSICAL EDUCATION (MA) Coach&SportsAdmin 18 10 8 80.00 6 75.00 ExerciseSciences 5 2 2 100.00 2 100.00 Tohng&Supr of PhysEd 17 10 6 60.00 5 83.33  TOTAL PHYSICAL EDUCATION (MA)  Coach&Supr of PhysEd 17 10 6 60.00 5 83.33  TOTAL PHYSICAL EDUCATION (MA)  READING (MA)	HIMN ECOL (MA)						
HomeEconomicsEducation 3 1 0 .00 0 .00 Nutrition&FoodScience 9 1 1 100.00 1 100.00  TOTAL HUMN ECOL (MA)  19 7 6 85.71 3 50.00  LEARNING DISABILITIES (MED) *No Concentration* 30 18 15 83.33 11 73.33  **No Concentration* 10 2 2 100.00 2 100.00  PHYSICAL EDUCATION (MA) Coach&SportsAdmin 18 10 8 80.00 6 75.00 ExerciseSciences 5 2 2 100.00 2 100.00  Tchng&Supr of Physed 17 10 6 60.00 5 83.33  TOTAL PHYSICAL EDUCATION (MA) 40 22 16 72.73 13 81.25  READING (MA)		1	1	1	100.00	1	100.00
Nutrition&FoodScience 9 1 1 1 100.00 1 100.00  TOTAL HUMN ECOL (MA)  19 7 6 85.71 3 50.00  LEARNING DISABILITIES (MED) *No Concentration* 30 18 15 83.33 11 73.33  NUTRITION AND FOOD SCIENCE (MS) *No Concentration* 10 2 2 100.00 2 100.00  PHYSICAL EDUCATION (MA) Coach&SportsAdmin 18 10 8 80.00 6 75.00 ExerciseSciences 5 2 2 100.00 2 100.00 Tchng&Supr of PhysEd 17 10 6 60.00 5 83.33  TOTAL PHYSICAL EDUCATION (MA)  40 22 16 72.73 13 81.25  READING (MA)	FamilyRelations/ChildDevelopmn	6	4	4		1	
TOTAL HUMN ECOL (MA)  19 7 6 85.71 3 50.00  LEARNING DISABILITIES (MED) *No Concentration* 30 18 15 83.33 11 73.33  NUTRITION AND FOOD SCIENCE (MS) *No Concentration* 10 2 2 100.00 2 100.00  PHYSICAL EDUCATION (MA) Coach&SportsAdmin 18 10 8 80.00 6 75.00 ExerciseSciences 5 2 2 100.00 2 100.00 Tchng&Supr of Physed 17 10 6 60.00 5 83.33  TOTAL PHYSICAL EDUCATION (MA)  40 22 16 72.73 13 81.25  READING (MA)	HomeEconomicsEducation	3	1	0	.00	0	.00
19   7   6   85.71   3   50.00	Nutrition&FoodScience	9	1	1	100.00	1	100.00
19   7   6   85.71   3   50.00	TOTAL HIMN FOOL (MA)						
*No Concentration* 30 18 15 83.33 11 73.33  NUTRITION AND FOOD SCIENCE (MS)  *No Concentration* 10 2 2 100.00 2 100.00  PHYSICAL EDUCATION (MA)	TOTAL HOME BOOK (FM)	19	7	6	85.71	3	50.00
*No Concentration* 30 18 15 83.33 11 73.33  NUTRITION AND FOOD SCIENCE (MS)  *No Concentration* 10 2 2 100.00 2 100.00  PHYSICAL EDUCATION (MA)							
NUTRITION AND FOOD SCIENCE (MS)  *No Concentration*  10 2 2 100.00  PHYSICAL EDUCATION (MA)  Coach&SportsAdmin 18 10 8 80.00 6 75.00 ExerciseSciences 5 2 2 100.00 2 100.00 Tchng&Supr of PhysEd 17 10 6 60.00 5 83.33  TOTAL PHYSICAL EDUCATION (MA)  40 22 16 72.73 13 81.25	LEARNING DISABILITIES (MED)						
*No Concentration* 10 2 2 100.00 2 100.00  PHYSICAL EDUCATION (MA)  Coach&SportsAdmin 18 10 8 80.00 6 75.00  ExerciseSciences 5 2 2 100.00 2 100.00  Tchng&Supr of PhysEd 17 10 6 60.00 5 83.33  TOTAL PHYSICAL EDUCATION (MA)  40 22 16 72.73 13 81.25	*No Concentration*	30	18	15	83.33	11	73.33
*No Concentration* 10 2 2 100.00 2 100.00  PHYSICAL EDUCATION (MA)  Coach&SportsAdmin 18 10 8 80.00 6 75.00  ExerciseSciences 5 2 2 100.00 2 100.00  Tchng&Supr of PhysEd 17 10 6 60.00 5 83.33  TOTAL PHYSICAL EDUCATION (MA)  40 22 16 72.73 13 81.25							
PHYSICAL EDUCATION (MA)  Coach&SportsAdmin 18 10 8 80.00 6 75.00 ExerciseSciences 5 2 2 100.00 2 100.00 Tchng&Supr of PhysEd 17 10 6 60.00 5 83.33  TOTAL PHYSICAL EDUCATION (MA)  40 22 16 72.73 13 81.25  READING (MA)	NUTRITION AND FOOD SCIENCE (MS)						
Coach&SportsAdmin       18       10       8       80.00       6       75.00         ExerciseSciences       5       2       2       100.00       2       100.00         Tchng&Supr of PhysEd       17       10       6       60.00       5       83.33    TOTAL PHYSICAL EDUCATION (MA)          40       22       16       72.73       13       81.25    READING (MA)	*No Concentration*	10	2	2	100.00	2	100.00
Coach&SportsAdmin       18       10       8       80.00       6       75.00         ExerciseSciences       5       2       2       100.00       2       100.00         Tchng&Supr of PhysEd       17       10       6       60.00       5       83.33    TOTAL PHYSICAL EDUCATION (MA)          40       22       16       72.73       13       81.25    READING (MA)							
ExerciseSciences 5 2 2 100.00 2 100.00 Tchng&Supr of PhysEd 17 10 6 60.00 5 83.33  TOTAL PHYSICAL EDUCATION (MA)  40 22 16 72.73 13 81.25  READING (MA)							
Tchng&Supr of PhysEd 17 10 6 60.00 5 83.33  TOTAL PHYSICAL EDUCATION (MA)  40 22 16 72.73 13 81.25  READING (MA)							
TOTAL PHYSICAL EDUCATION (MA)  40 22 16 72.73 13 81.25  READING (MA)		_		_			
40 22 16 72.73 13 81.25	Tchng&Supr of PhysEd	17	10	6	60.00	5	83.33
40 22 16 72.73 13 81.25	TOTAL PHYSICAL EDUCATION (MA)						
	,	40	22	16	72.73	13	81.25
	READING (MA)						
		36	30	26	86.67	20	76.92

TABLE 8

APPLIED, COMPLETE, ACCEPTED, AND ENROLLED
MASTERS-SEEKING GRADUATE STUDENTS FOR FALL 2004

#### COLLEGE OF EDUCATION AND HUMAN SERVICES

	APPLIED	COMPLETE	ACCEPTED	% ACCEPTS	ENROLLED	% ENROLLED
TEACHING (MAT)						
TEAR	13	8	6	75.00	6	100.00
TEBI	8	6	2	33.33	2	100.00
TEEC	34	29	22	75.86	18	81.82
TEEL	64	43	36	83.72	26	72.22
TEEN	14	12	9	75.00	6	66.67
TEES	4	3	3	100.00	2	66.67
TEFR	1	1	0	.00	0	.00
TEHL	2	2	2	100.00	1	50.00
TEHP	1	1	0	.00	0	.00
TEMA	15	9	10	111.11	6	60.00
TEMU	1	1	1	100.00	0	.00
TEPE	14	11	10	90.91	9	90.00
TEPS	3	2	2	100.00	1	50.00
TESP	5	4	4	100.00	2	50.00
TESS	20	15	12	80.00	10	83.33
TETH	28	23	20	86.96	17	85.00
TETL	2	0	0	.00	0	.00
TOTAL TEACHING (MAT)						
	229	170	139	81.76	106	76.26
COLLEGE OF EDUCATION AND HUMA	N SERVICES					
	847	544	424	77.94	324	76.42

-----

TABLE 8

APPLIED, COMPLETE, ACCEPTED, AND ENROLLED
MASTERS-SEEKING GRADUATE STUDENTS FOR FALL 2004

## COLLEGE OF HUMANITIES AND SOCIAL SCIENCE

	APPLIED	COMPLETE	ACCEPTED	% ACCEPTS		% ENROLLED
APPLIED LINGUISTICS (MA) *No Concentration*	14					66.67
						45.45
CHILD ADVOCACY (MA)  *No Concentration* PublicChildWelfare	8 5	3	0	.00	0	
TOTAL CHILD ADVOCACY (MA)	13	3		.00		
COMMUNICATION SCI & DISORDER (MA) SpchLangPath	194	178	41		12	29.27
EDUCATIONAL PSYC (MA)  *No Concentration* Child/AdolescClinicalPsyc ClinPsychSpan/EnglBiling		18	14 13	77.78 50.00	6	42.86
TOTAL EDUCATIONAL PSYC (MA)	51	45	27	60.00	12	44.44
ENGLISH (MA)  *No Concentration*	54	42	30	71.43	21	70.00

TABLE 8

APPLIED, COMPLETE, ACCEPTED, AND ENROLLED
MASTERS-SEEKING GRADUATE STUDENTS FOR FALL 2004

### COLLEGE OF HUMANITIES AND SOCIAL SCIENCE

	APPLIED	COMPLETE	ACCEPTED	% ACCEPTS	ENROLLED	% ENROLLED
FRENCH (MA)						
*No Concentration*	2	0	0	.00	0	.00
FrenchLiterature	14	•				83.33
FrenchStudies	6	6		66.67		50.00
TOTAL FRENCH (MA)						
	22	15	10	66.67	7	70.00
LEGAL STUDIES (MA)						
*No Concentration*	17	7		85.71		66.67
DisputeResolution	11			50.00		66.67
Governce, Complince, Regulatn	8	2				100.00
LegalMgmtInfo&Tech	7	3	1	33.33	1	100.00
TOTAL LEGAL STUDIES (MA)						
	43	18		66.67	_	75.00
PSYCHOLOGY (MA)						
*No Concentration*	26	14	11	78.57	3	27.27
Industrial&OrganizationalPsych	17	12	12	100.00	5	41.67
TOTAL PSYCHOLOGY (MA)						
	43	26	23	88.46	8	34.78
SOCIAL SCIENCES (MA)						
History			19	86.36	9	47.37
SPANISH (MA)						
*No Concentration*	10	8	7	87.50	7	100.00
COLLEGE OF HUMANITIES AND SOCIAL	SCIENCE					
	496	382	189	49.48	96	50.79

TABLE 8

APPLIED, COMPLETE, ACCEPTED, AND ENROLLED
MASTERS-SEEKING GRADUATE STUDENTS FOR FALL 2004

### COLLEGE OF SCIENCE AND MATHEMATICS

	APPLIED	COMPLETE	ACCEPTED	% ACCEPTS	ENROLLED	% ENROLLED
BIOLOGY (MS)						
*No Concentration*	38	19	21	110.53	15	71.43
BiologyScience/Education	7	5	4	80.00	2	50.00
MolecularBiology	43	20	17	85.00	13	76.47
TOTAL BIOLOGY (MS)						
	88	44	42	95.45	30	71.43
CHEMISTRY (MS)						
*No Concentration*	9	3	3	100.00	2	66.67
Biochemistry	5	2	2	100.00	2	100.00
TOTAL CHEMISTRY (MS)						
	14	5	5	100.00	4	80.00
CHEMISTRY MS/BUSINESS ADMINISTRAT	 ION MBA (M	 ISMB)				
*No Concentration*	1	0	0	.00	0	.00
CHEMISTRY MS/MBA (MSMB)						
BusinessEconomics	1	0	0	.00	0	.00
InternationalBusiness	1	0	0	.00	0	.00
Management	2	0	0	.00	0	.00
TOTAL CHEMISTRY MS/MBA (MSMB)						
	4	0	0	.00	0	.00

TABLE 8

# APPLIED, COMPLETE, ACCEPTED, AND ENROLLED MASTERS-SEEKING GRADUATE STUDENTS FOR FALL 2004

### COLLEGE OF SCIENCE AND MATHEMATICS

	APPLIED	COMPLETE	ACCEPTED	% ACCEPTS	ENROLLED	% ENROLLED
COMPUTER SCIENCE (MS)						
*No Concentration*	28	16	13	81.25	12	92.31
AppliedMath	2	1	0	.00	0	.00
AppliedStatistics	2	1	1			100.00
Informatics	13	2	2	100.00	1	50.00
TOTAL COMPUTER SCIENCE (MS)						
	45	20	16	80.00	14	87.50
ENVIRONMENTAL STUDIES (MA)						
EnvironmentalEduc	9	5	5	100.00	2	40.00
EnvironmentalMgmt	20	14	12	85.71		66.67
EnvironmentalScience	9	4	4	100.00	2	50.00
TOTAL ENVIRONMENTAL STUDIES (MA)						
	38	23	21	91.30	12	57.14
GEOSCIENCE (MS)						
*No Concentration*	7	1	1	100.00	0	.00
MATHEMATICS (MS)						
ComputerScience	2	0	0	.00	0	.00
MathematicsEducation	33	20	-		16	80.00
Pure&AppliedMathematics	7	1	1			100.00
Statistics	6	4	4	100.00	3	75.00
TOTAL MATHEMATICS (MS)						
	48	25	25	100.00	20	80.00
STATISTICS (MS)						
*No Concentration*	14	8	8	100.00	4	50.00

TABLE 8

## APPLIED, COMPLETE, ACCEPTED, AND ENROLLED MASTERS-SEEKING GRADUATE STUDENTS FOR FALL 2004

### COLLEGE OF SCIENCE AND MATHEMATICS

	APPLIED	COMPLETE	ACCEPTED	% ACCEPTS	ENROLLED	% ENROLLED
TEACHING MIDDLE GRADES MATHEMATICS *No Concentration*	(MA) 21	13	13	100.00	7	53.85
COLLEGE OF SCIENCE AND MATHEMATICS	280	139	131	94.24	91	69.47

TABLE 8

# APPLIED, COMPLETE, ACCEPTED, AND ENROLLED MASTERS-SEEKING GRADUATE STUDENTS FOR FALL 2004

## SCHOOL OF BUSINESS

	APPLIED	COMPLETE	ACCEPTED	% ACCEPTS	ENROLLED	% ENROLLED
BUSINESS ADMINISTRATION (MBA)						
*No Concentration*	98	53	35	66.04	15	42.86
Accounting	51	35	25	71.43	16	64.00
BusinessEconomics	7	3	3	100.00	1	33.33
Finance	87	58	36	62.07	22	61.11
InternationalBusin	25	11	7	63.64	3	42.86
Management	55	34	17	50.00	12	70.59
Marketing	41	25	16	64.00	14	87.50
MgmtInfoSystems	32	17	13	76.47	7	53.85
TOTAL BUSINESS ADMINISTRATION (MB	A)					
	396	236	152	64.41	90	59.21
SOCIAL SCIENCES (MA)						
Economics	7	4	1	25.00	1	100.00
SCHOOL OF BUSINESS						
	403	240	153	63.75	91	59.48

TABLE 8

APPLIED, COMPLETE, ACCEPTED, AND ENROLLED
MASTERS-SEEKING GRADUATE STUDENTS FOR FALL 2004

SCHOOL OF THE ARTS

	APPLIED	COMPLETE	ACCEPTED	% ACCEPTS	ENROLLED	% ENROLLED
COMMUNICATION STUDIES (MA)						
OrganizatnlCommunica	4	3	2	66.67		50.00
PublicRelations	28			45.45		
SpeechCommunication	8	5	3	60.00	2	66.67
TOTAL COMMUNICATION STUDIES (MA)						
	40	19	10	52.63	7	70.00
FINE ARTS (MA)						
ArtHistory	8	6	4	66.67	2	50.00
FineArtsEducation	7	4	2	50.00	2	100.00
Studio	9	5	4	80.00	3	75.00
TOTAL FINE ARTS (MA)						
	24	15	10	66.67	7	70.00
MUSIC (MA)						
MusicEducation	11	3	2	66.67	2	100.00
MusicTherapy	7	2	1	50.00	1	100.00
Performance	12	7	7	100.00	5	71.43
TheoryComposition	1	1	0	.00	0	.00
TOTAL MUSIC (MA)						
· ,	31	13	10	76.92	8	80.00
STUDIO ART (MFA)						
*No Concentration*	31	27	14	51.85	11	78.57
THEATRE (MA)						
Production/StageMgmt	5	4	2	50.00	1	50.00
TheatreStudies	13	11	10		5	50.00
TOTAL THEATRE (MA)						
	18	15	12	80.00	6	50.00
SCHOOL OF THE ARTS	144	89	56	62.92	39	69.64
	111	0,5	50	02.72	3,7	07.04

#### TABLE 8

## APPLIED, COMPLETE, ACCEPTED, AND ENROLLED MASTERS-SEEKING GRADUATE STUDENTS FOR FALL 2004

SCHOOL OF THE ARTS

APPLIED COMPLETE ACCEPTED % ACCEPTS ENROLLED % ENROLLED

TABLE 8

APPLIED, COMPLETE, ACCEPTED, AND ENROLLED
MASTERS-SEEKING GRADUATE STUDENTS FOR FALL 2004

	APPLIED	COMPLETE	ACCEPTED	% ACCEPTS	ENROLLED	% ENROLLED
TOTAL	2170	1394	953	68.36	641	67.26